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MATH 152, 525-530, 534-536, Spring 2013, Solutions for sample problems for Test 3

1. Which of the following series is convergent?
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2. Approximate the sum of the series Z ne™™ by using the sum of first 4 terms. Estimate

=1
the etror involved in this approxlmatmn
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3. Approximate the sum of the series z:(—l)"_lne“""2 by using the sum of first 4 terms.
n=1
Estimate the error involved in this approximation.
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4. Which of the following series is absolutely convergent?
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5. Find the radius of convergence and interval of convergence of the series Z 2(z —3)
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